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Ejercicio propuesto con aplicación de software. Fundamentos de 

Álgebra Lineal - Larson 

 
Sección 4.7 
 
Ejercicio 25 
 

> with(linalg): 
 

> A :=






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

1 K 2 K 1 K 2 1 0 0 0

3 K 5 K 2 K 3 0 1 0 0

2 K 5 K 2 K 5 0 0 1 0

K 1 4 4 11 0 0 0 1
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




:

 
 
> rref(A); 
 

   









1 0 0 0 K24 7 1 K2

0 1 0 0 K10 3 0 K1

0 0 1 0 K29 7 3 K2

0 0 0 1 12 K3 K1 1
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Matriz de transición de '
BaB :       

 





















−−
−−
−−
−−

11312

23729

10310

21724

 

 

 

 

 

 

                                       
 


